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, For a particular consumer having a Cobb- Douglas type utility function, please
dﬂsu‘lhlﬂ his/her demand behaviour and discuss what you can derive for the
comparative statics results which can not be obtained in case of a general preference

assumed in neoclassical consumer model. Discuss your result,

—

W7 Foliow the following statements ngumusl}r
a. Show that the monopolist's profit falls as he moves [rom first- to second- to third-

degree price discrimination.
b. Monopolists often produce high and low quality goods and set prices such that

price differential between the high and low quality exceeds the additional cosL of
the higher quality products. Explain this pricing strategy and discuss whether this

is consistent with the profit maximization assumption,
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